
Algorithms

Recursion
(day 3)



Recaps :
- HWO: all should be in

except for I extension
( I'll start grading once they
are all in .)

- HWI- due Wednesday
- Office hours :

Monday at 1pm }f÷:&
Tuesday at 2pm zoom if needed

Friday at 10am
(in class
zoom)

A note on studying :
Many strategies !
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Sum of all work in tree
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Another : merge
sort
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Note on reading-.

If you
don't follow the bit

on ignoring floors
& ceilings -

don't stress !

I need you to know you
care do this , but won't
ask you to prove

it
.

Ex: discussion on domain transforma ton
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Next : how to generalize?
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Solvingthose trees !
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Medians : find
"middle" element.

Two were covered :
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His picture : kbYeµ
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Multiplication :

Runtime :

vs .

Runtime .
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Exponentiation
still open !

(Amazing, right ? ?)
The algorithms do verywell :
- to compute ah,
need ①Clog n)
multiplications

However , doesn't achieve
lowest possible for
every value

- it's just
with a constant !


